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Oylg) + NO(g) — Oylg) + NO;(g)

&. Consider the reaction represented above,

() Referring to the data in the tabie below, calculate the standard enthalpy change, AH®, for the reacticn at.
25°C. Be sure to show your work.

: — T Oy@ | MO | NO@
Stundard enthalpy of |
formation, AH? , 2t 25°C [ 143 % | B _
-0 mol™) ' \

(b Make a qualitative prediction about the magnimde of the standard entropy change, AS®, for the reaction &
25°C. Justify your answer~ - .
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for the reaction at 25°C. Explain your reasoming. -
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obtained your answer.

| ) ) Initinl Fais af
Expesimert | Initisl [O,] |° Initial (NO] | Formation of NO,
Numbes (molL-) | (mell™ (mol L~ )
0.0010 0.0010 x
2 0.0010 | 0.0020 2
3 0.0020 0.0010 2
3 0.0020 0.0020 ax .
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Swepl: 0y+NO = O+NGy
Sepl: O+0y, =220
Step Il: _ME;+NO = 21NO,
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